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MASTER OF ARTS (ECONOMICS) 

Term-End Examination 

June, 2019 

MEC-001 : MICROECONOMIC ANALYSIS 

Time : 3 hours 	 Maximum Marks : 100 

Note : Attempt questions from each section as per 

instructions given. 

SECTION A 

Answer any two questions from this section. 	2x20=40 

1. A monopolist operates under two plants, A and 
B. The marginal costs of these plants are given 

by 360 — 14x — 2x2  and 310 — 15x — x2  with 
x representing units of output produced by each 
plant. If the price of the product is given by 
396 — 4x2 , calculate the overall marginal cost and 
determine profit maximising output in each 
plant. 

2. (a) Decompose the price effect into substitution 
effect and income effect using both 
Hicksian and Slutsky approach. 

(b) Discuss the difference between compensated 
demand function and ordinary demand 
function, both, for the normal goods and 
inferior goods. 
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3. (a) What do you mean by pure public good ? 

(b) There are only 2 individuals A and B in an 
economy. Their respective marginal 
valuation curves for a public good, x are 

MVA  = 100 — 2x 

MVB  = 25 — x 

MC = 100 + 2x is the marginal cost of providing 

the public good. Find the socially efficient 

quantity produced of this public good. 

4. Discuss Pigou's views on the theory of social 

welfare. Make a case to refute his arguments. 

MEC-001 	 2 



SECTION B 

Answer any five questions from this section. 	5x12=60 

5. Consider the following version of prisoner's 
dilemma game : 

Player 1 

Player 2 

Cooperate Cheat 

Cooperate 15, 15 0, 50 

Cheat 50, 0 10, 10 

(a) What is each player s dominant strategy ? 

(b) Explain the Nash equilibrium of the game. 

(c) Compare the Nash equilibrium with Pareto 
efficient outcome of the game. 

6. Suppose 10 people live on a street and that each 

of them is willing to pay T 2 extra for extra 

dustbin, irrespective of the number of dustbins 

provided. If C(x) = x2  is the cost of providing 

dustbins, what is the Pareto efficient number of 

dustbins to provide ? 

7. Write short notes on any two of the following : 

(a) Hotelling Lemma 

(b) Second Welfare Theorem 

(c) Producer's Surplus and Consumer's 
Surplus 

(d) CES Production Function 
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8. Consider the following game : 
1 

L 

(0, 1) (3, 2) 	(-1, 3) 	(1, 5) 

(a) How many subgames are there in this 
game ? 

(b) Find the solution of this game by using 
backward induction. 

9. A cartel consists of 10 firms, each with a total 

cost : TC (ci i ) = 200 + 2 (qi)2 . 

If the market demand is given as P = 140 — Q, 
solve for cartel's output level, market price and 
profit. 

10. Use the utility function u(x i , x2 ) = x1 /2  x 12 /3  and 

the budget constraint M = P ixi  + P2x2  to 

calculate demand, indirect utility function, 

Hicksian demand and expenditure function. 

11. Differentiate between any three of the following : 

(a) Moral hazard and Adverse selection 

(b) First and Third degrees of price 
discrimination 

(c) Profit function and Cost function 

(d) Cournot competition and Stackelberg 
competition 
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